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General Instructions :

Read the following instructions carefully and follow them :

(i) This questions paper contains 30 questions. All questions are compulsory.
(it)  This question paper is divided into five sections — Sections A, B, C, D and E.
(iti) Section A — Questions no. 1 to 17 are multiple choice (MCQ) type questions.
(iv) Section B — Questions no. 18 and 19 are source based questions.

(v)  Section C - Questions no. 20 to 23 are Short Answer (SA) type questions.
Answer to these questions shall be written in 80 to 100 words.

(vi) Section D - Questions no. 24 to 28 are Long Answer (LA) type questions.
Answer to these questions shall be written in 120 to 150 words.

(vii) Section E — Questions no. 29 and 30 are Map based questions.

SECTION A

There are 17 multiple choice questions in this section (. No. 1 — 17).

All questions are compulsory. 17x1=17
1. Transport activities come under which one of the following sectors ?

(a)  Primary (b)  Secondary

(c) Tertiary (d) Quarternary

2. Which among the following is an agro based industry ?
(a)  Woollen textile
(b)  Leather
(c) Cement
(d)  dJute

3. Which of the following is a quarternary activity ?

(a)  Catching fish (b)  Iron smelting
(c) Software developing (d) Basket making
64/3/3 3 P.T.O.
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(c) I8 el ol SIS ATl Tehi ol Hi HHIOT el & |
(d) TA.TH.CATE. 1 T 1995 H F3T o |

10. TfciRea ® @ qd-afvem Ticti w1 & 9feem 1 $3H HH-A1 8 ?
(a)  ohicTehrdl (b)  TETET
¢ UREe (d H
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4., Which of the following industries produce raw material for other

industries ?

(a)  Small scale industries (b)  Basic or key industries
(c) Household industries (d)  Joint sector industries
5. Which one of the following features is correct about cottage industries ?

(a) Itis alarge manufacturing unit.
(b) Raw material is imported from outside markets.
(c) Goods produced by them have low commercial significance.

(d)  Finished products are sold in the open market.

6. Which of the following is a tertiary activity ?

(a)  Gathering (b)  Hunting
(c) Nomadic herding (d) Trading
7. Which of the following is not a cause of noise pollution ?
(a)  Aircraft (b)  Industry
(c) Automobile (d) Bicycle

8. Which one of the following is a major polluting industry ?

(a)  Food processing industry (b)  Cottage industry

(c) Chemical industry (d)  Foot loose industry
9. Which of the following features is not true regarding NHAI ?

(a) It is an autonomous body under the Ministry of Surface Transport.

(b) It is responsible for constructing and maintaining National
Highways.

(c) It also constructs village link roads.

(d) NHAI was operationalized in 1995.

10. Which among the following is the westernmost station of East-West

corridor ?
(a) Kolkata (b) Guwahati
(¢) Porbandar (d) Mumbai
64/3/3 5 P.T.O.
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11. Why has Kolkata port minimised its significance ?
(a) It has a vast hinterland
(b)  Accumulation of silt in Hugli river
(c) Diversion of exports to other ports

(d)  Passenger traffic is very low

12. India’s foreign trade is largely carried out by which of the following

routes ?
(a) Land and air routes (b) Land and sea routes
(c) Air and sea routes (d)  Only sea routes

13. Which of the following seaports is located on Mahanadi delta ?
(a) Haldia (b)  Ennore
(c) Paradwip (d)  Vishakhapatnam

14. Which one of the following rivers is highly polluted ?
(a)  Kosi (b)  Ravi

(¢) Narmada (d) Yamuna

Read the case study given below and answer the questions from 15 to 17.

Case Study : Indira Gandhi Canal (Nahar) Command Area

Indira Gandhi Canal, previously known as the Rajasthan Canal, is one
of the largest canal systems in India. Conceived by Kanwar Sain in 1948,
the canal project was launched on 31 March, 1958. The canal originates at
Harike barrage in Punjab and runs parallel to Pakistan border at an
average distance of 40 km in Thar Desert (Marusthali) of Rajasthan. The
total planned length of the system is 9,060 km catering to the irrigation
needs of a total culturable command area of 19-63 lakh hectares. Out of the
total command area, about 70 percent was envisaged to be irrigated by
flow system and the rest by lift system. The construction work of the canal
system has been carried out through two stages. The command area of
Stage-I lies in Ganganagar, Hanumangarh and northern part of Bikaner
districts. It has a gently undulating topography and its culturable
command area is 5-53 lakh hectares. The command area of Stage-II is

64/3/3 7 P.T.O.
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(c) oYY o oTq U Fg=mT
(d) 3T % T g wger

16. UM &F H, 3H T I I 1Y F1 3 ?
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spread over Bikaner, Jaisalmer, Barmer, Jodhpur, Nagaur and Churu
districts covering culturable command area of 14-10 lakh ha. It comprises
desert land dotted with shifting sand dunes and temperature soaring to
50°C in summers. In the lift canal, the water is lifted up to make it to flow
against the slope of the land. All the lift canals of Indira Gandhi system
originate at the left bank of main canal while all the canals on the right
bank of main canal are flow channels.

Irrigation in Stage-I command area of the canal was introduced in
early 1960s, whereas the command area of Stage-II began receiving
irrigation in mid-1980s. The introduction of canal irrigation in this dry
land has transformed its ecology, economy and society. It has influenced
the environmental conditions of the region both positively as well as
negatively. The availability of soil moisture for a longer period of time and
various afforestation and pasture development programmes under CAD
have resulted in greening the land. This has also helped in reducing wind
erosion and siltation of canal systems. But the intensive irrigation and
excessive use of water has led to the emergence of twin environmental
problems of waterlogging and soil salinity.

15. What was the main objective to construct of Indira Gandhi Canal ?
(a)  Proving water for irrigation in the command area
(b)  Providing water for drinking purpose
(c) Providing water for afforestation
(d)  Providing water for industries

16. What is the major benefit of this Canal in the command area ?
(a)  Transformation of ecology and economy
(b)  Environmental conditions slightly changed
(c) People had not settled permanently
(d)  Crop production is still at lower level

17. What is the negative impact of this Canal ?
(a)  Soils become fertile
(b)  Water logging and salinity
(c) Multiple cropping system
(d) Command area becomes green

64/3/3 9 P.T.O.
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SECTION B

Questions number 18 and 19 are Source-based Questions.

18.

Note :

64/3/3

Study the picture given below and answer the questions that follow :

3x1=3

* CAIRO

Delta of the Nile
Damiema[. Yol
" [Lake Manzald: = w-.
Shirbin . / i
> \
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a’ ’
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j }‘
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Fayidi Q\ ‘ Bitter Lake

~
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S Listle
I Bitter Lake
|
|

~ ® Ain Musa

-~ — ;;,&"&-'

—— "? -
To Asia

Bir Hassan Lake

(18.2) Name the terminal ports of this waterway.

(18.3) Explain the main characteristic of this waterway.

(18.1) Identify the shipping canal in the given picture and write its name. 1

1
1

The following question is for the Visually Impaired Candidates only

in lieu of Q. No. 18.

Explain any three characteristics of the ‘Northern Atlantic Sea Route’.
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19. Read the case study given below and answer the questions that follow : 3x1=3

Case Study : A Role Model to Restore the Ecology and Safeguard
Human Health in Daurala

Based on the universal law “Polluter pays”, effort to restore the ecology
and safeguard the human health with people’s participation has taken
place in Daurala near Meerut. These efforts are now bearing fruits after a
span of three years when a Meerut based NGO had developed a model for
ecological restoration. The meeting of the Daurala industries officials,
NGOs, Government officials and other stakeholders at Meerut has brought
out results. The powerful logics, authentic studies and the pressure of
people have brought a new lease of life to the twelve thousand residents of
this village. It was in the year 2003 that the pitiable condition of
Dauralaites drew the attention of the civil society. The groundwater of this
village was contaminated with heavy metals. The reason was that the
untreated wastewater of Daurala industries was leaching to the
groundwater table. The NGOs conducted a door-to-door survey of the
health status of the residents and came out with a report. The
organisation, the village community and people’s representatives sat
together to find out sustainable solutions to the health problem. The
industrialists showed a keen interest towards checking the deteriorating
ecology. The overhead water tank’s capacity in the village was enhanced
and a 900 m extra pipeline was laid to supply potable water to the
community. The silted pond of the village was cleaned and recharged by
desilting it. Large quantity of silt was removed paving way to large
quantity of water so that it recharged the aquifers, Rainwater harvesting
structures have been constructed at different places which has helped in
diluting the contaminants of the groundwater after the monsoon. 1000
trees have also been planted which have improved the environment.

(19.1) What is meant by water pollution ? 1
(19.2) Explain the role of industrialists in checking the deteriorating
ecology. 1
(19.3) Analyse the contribution of the NGO in Daurala’s problem. 1
64/3/3 13 P.T.O.
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SECTION C

Questions number 20 to 23 are Short Answer Type Questions.

20. Explain the main characteristics of Neodeterminism. 3
21. (a) “The cities are connected, directly or indirectly, with villages and
also with each other.” Examine the statement. 3
OR
(b) Examine any three causes for the development of compact rural
settlements in India. 3

22. (a) Explain any three physical factors influencing the distribution of

population in the world. 3
OR
(b)  Explain any three push factors affecting migration. 3
23. Explain any three activities proposed under ‘Jal Kranti Abhiyan’ in
India. 3
SECTION D

Question number 24 to 28 are Long Answer Type Questions.

24. Examine with examples the different stages of demographic transition

theory. 5
25. (a) Explain any five features of ‘plantation agriculture’ in the world. 5
OR
(b)  Explain any five features of ‘market gardening and horticulture’ in
the world. 5
26. “Most of the metallic minerals in India occur in the peninsular plateau
region in the old crystalline rocks.” Examine the statement. 5
27. Explain the occupational structure of India’s population. 5
28. (a) Describe the development of railways in Europe and Russia. 3+2=5
OR
(b)  Describe the benefits of water transport over railways. 5
64/3/3 15 P.T.O.
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SECTION E

Questions number 29 and 30 are Map based Questions.

29. On the given political outline map of the World (on page 21), seven
geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
A. A major airport in Australia

B. Largest country in terms of area in Europe

C. A major seaport in South America

D. A terminal station of Trans-Canadian Railway

E. A major area of subsistence gathering

F. Largest country in terms of area in Africa

G. Terminal station of Trans-Siberian Railway

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 29.

Answer any five questions out of the following : 5x1=5
(29.1) Name any international airport of Australia.

(29.2) Name the important waterway that links the Great Lakes with
the Atlantic Ocean.

(29.3) Name the major seaport of Chile.

(29.4) Name the terminal station of Trans-Canadian railway on the
western end.

(29.5) Mention the major area of subsistence gathering in Africa.
(29.6) Name the largest country in Africa in terms of area.

(29.7) Name the easternmost terminal station of Trans-Siberian
Railway.

64/3/3 17 P.T.O.
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30. On the given political outline map of India (on page 23), locate and label
any five of the following seven geographical features with appropriate

symbols : 5x1=5
(30.1) A state with highest level of urbanization

(30.2) A city with more than 10 million population in Maharashtra

(30.3) A state leading in the production of tea

(30.4) Mayurbhanj — iron-ore mines

(30.5) Balaghat — manganese mines

(30.6) Kochi — seaport

(30.7) Ahmedabad — Airport

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 30.

Answer any five questions out of the following : 5x1=5
(30.1) Mention the state having highest level of urbanization.

(30.2) Name the city of West Bengal having more than 10 million
population.

(30.3) Which state leads in the production of tea ?

(30.4) In which state are Mayurbhanj iron-ore mines located ?

(30.5) Name the state where Shimoga manganese mines are located.
(30.6) Along which coast is Kochi seaport located ?

(30.7) Name one international airport located in Gujarat.

64/3/3 19 P.T.O.
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For question no. 30
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2023
SUBJECT : GEOGRAPHY ( CODE 029) (PAPER CODE 64/3/3)

General Instructions: -

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to
anyone, publishing in any magazine and printing in News Paper/Website etc may
invite action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or are
innovative, they may be assessed for their correctness otherwise no marks be
awarded to them. In class-X, while evaluating two competency-based questions,
please try to understand given answer and even if reply is not from marking scheme
but correct competency is enumerated by the candidate, due marks should be
awarded.

The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.
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6
Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v ) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7
If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8
If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9
If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.

10
No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

1
A full scale of marks 70 (example 0 to 80/70/60/50/40/30 marks as given in
Question Paper) has to be used. Please do not hesitate to award full marks if the answer
deserves it.

12
Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).This is in view of the
reduced syllabus and number of questions in question paper.

13
Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-
e Leaving answer or part thereof unassessed in an answer book.
e  Giving more marks for an answer than assigned to it.
e Wrong totaling of marks awarded on an answer.
e \Wrong transfer of marks from the inside pages of the answer book to the title page.
e Wrong question wise totaling on the title page.
e Wrong totaling of marks of the two columns on the title page.
e Wrong grand total.
e Marks in words and figures not tallying/not same.
e Wrong transfer of marks from the answer book to online award list.
e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark
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is correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)
e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14
While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15
Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16
The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17
Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18
The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
ANNUAL EXAMINATION
SUBJECT- GEOGRAPHY (029)

PAPER CODE-64/3/3

SET-3
MM-70
Q EXPECTED ANSWERS/VALUE POINTS Page no | Distributi
No. inTB on of
SECTION -A marks
Question no. 1-17 are MCQs
1. | (c) Tertiary TB-1 Pg 1
58
2 | (d) Jute TB-1 Pg 1
50
3 | (c) Software developing TB-1 Pg 1
61
4 | (b) Basic or key industry TB-1 Pg 1
51
5 | (c) Goods produced by them have low commercial TB-1 Pg 1
significance 49
6 | (d) Trading TB-1 Pg 1
55
TB-2
7 | (d) Bicycle Pg 136 1
8 | (¢) Chemical industry TB-2 Pg 1
134
9 | (c) It also constructs village link roads. TB-2 Pg 1
114
10 | (c) Porbander TB-2 Pg 1
115
11 | (c) Diversion of exports to other ports. TB-2 Pg 1
130
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12

(c) Air and sea routes

TB-2 Pg 1
127

13

(c) Paradwip

TB-2 1
Pg. 130

14

(d) Yamuna

TB-2 Pg. 1
64

15

(a) Providing water for irrigation in the command area

16

(a) Transformation of ecology and economy.

17

(b) Water logging and salinity

SECTION B

18

(18.1) Identify the shipping canal in the given
picture and write its name.

Suez canal

(18.2) Name the terminal ports of this waterway.

Port Said (North), Port Suez(South)

(18.3) Explain the main characteristic of this

waterway.

1. It gives Europe a new gateway to the Indian Ocean
and reduces direct sea route distance between
Liverpool and Colombo compared to the Cape of
Good Hope Route.

11. It is a sea level canal without locks.
111. Any other relevant point

Any one point to be explained
For Visually Impaired Candidates Only :
(18) Characteristics of Northern Atlantic Sea Route
1. It links North Eastern U.S.A and North Western

Europe, the two industrially developed regions of
the world .

Get More Learning Materials Here : & m

@E www.studentbro.in



1.  The foreign trade over this route is greater than
that of the rest of the world combined.

11i.  One fourth of the world’s foreign trade moves on
this route.

iv. It is the busiest in the world and called Big Trunk

Route.
TB-1
V. Both the coasts have highly advanced ports and
harbour. 75% 3x1=3

vi.  Any other relevant point

Any three points to be explained

19 (19.1) What is meant by water pollution ?
1

Water gets contaminated with heavy metals.

(19.2) Explain the role of industrialists in checking 1
the deteriorating ecology.

Over head water tank’s capacity was enhanced
and 900 m extra pipeline was laid to supply
portable water / the silted pond was cleaned
and recharged by desilting.

(19.3) Analyse the contribution of the NGO in
Daulara’s problem.

NGO developed a model for ecological restoration
and conducted a door to door survey of the health
status of the residents and came out with a report.

SECTION-C
20 to 23 are Short Answer Type Questions.

Get More Learning Materials Here : & m @&\ www.studentbro.in



Explain the main characteristics of Neo
20 | determinism.
Characteristics of Neo determinism
1. The concept shows neither there is a situation of
absolute necessity nor is there a condition of
absolute freedom. It means human beings conquer
nature by obeying it.
1.  The possibilities can be created within the limits
which do not damage the environment.
1ni. The Neo determinism conceptually attempts to
bring a balance nullifying the either or dichotomy.
TB-1 3x1=3
1v. Any other relevant point
Pg. 4
Any three points to be explained
(a) ‘The cities are connected directly or indirectly,
21 | with villages and also with each other’. Examine
the statement.
1. The rural settlements derive the support from land-
based economic activities.
1.  The cities depend on villages for raw material.
1.  Villages are dependent on towns for manufactured
goods.
iv.  On the other hand both the settlements are
connected to provide different types of services.
V. Cities are connected with each other for enhancing
economic growth and providing services.
' , TB-2 Pg. | 3x1=3
vi. Any other relevant point 32
Any three points to be examined
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OR
(b) Examine any three causes for the development
of compact rural settlements in India.

Causes for the development of compact rural
settlements in India

1. Security as the reason, defence against thefts and
robberies.
1.  Scarcity of water and maximum utilisation of water.

1i.  Fertile alluvial plains.

1v. Any other relevant point TB-323Pg. 3x1=3

Any three points to be examined

(a) Explain any three physical factors influencing
22 | the distribution of population in the world.
Physical factors influencing the distribution of
population in the world:

1. Availability of water.
11. Landforms.
111. Climate.
TB-1 3x1=3
. . Pg.
1v. Soils. g9

Any three points to be explained

OR
(b) Explain any three push factors affecting
migration.

Push factors affecting the migration-
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1. Unemployment.
1.  Poor living conditions.
1i.  Political turmoil.
1v. Unpleasant climate.
v.  Natural disasters
vi.  Epidemics TB-1 3x1=3
. : : Pg. 12
vii. Socio-economic backwardness.
Any three points to be explained
23 Explain any three activities proposed under
Jal Kranti Abhiyan in India.
Activities proposed under Jal Kranti Abhiyan
in India-
1. Selection of one water stressed village in each of
district of the country to create ‘Jal Gram’.
1. Identification of model command area in different
parts of the country.
1i.  Abatement of pollution. Reduction of groundwater
pollution, water conservation and artificial
recharge, construction of arsenic wells in selected
areas.
iv.  Creating mass awareness through social media,
radio, TV, etc, prae | 3X18
V. Any other relevant point. &
Any three points to be explained
SECTION -D
24 to 28 are Long Answer Type Questions.
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Examine with examples the different stages of

24 demographic transition theory.

Stages of demographic transition theory-.

STAGE 1
1. The first stage has high fertility and high mortality
because people reproduce more to compensate the
loss by deaths.

1.  The population is slow and people are engaged in
agriculture where large families are assets and life
expectancy is low.

Eg. Bangladesh,Rainforest tribes, two hundred
years ago all the countries were in this stage.

STAGE-2

1.  In the second stage fertility remains high in the
beginning but declines with time. It is accompanied
by reduced mortality rate.

1.  Improvements in sanitation and health conditions
led to the decline in the mortality.

Eg. Sri Lanka, Kenya, Peru
STAGE-3

1. In the third stage both fertility and mortality
decline considerably. The population becomes
stable or grows very slowly.

11. The population becomes urbanised, literate and has
high technical knowledge and controls the family
size.

Eg. Canada, Japan, USA. TB-1 Pg. 5
14
Stages to be examined with examples.
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(a) Explain any five features of the Plantation

25 agriculture in the world.

Features of Plantation agriculture :

1. This type of farming is done on large estates.
11. It is a single crop cultivation.
111. It depends upon large capital investment.
1v. Scientific methods of cultivation
V. It requires managerial and technical support.
Vi. Cheap labour and good system of transportation to
link the estates to the factories and markets for the
export of the products. TB-1 Pg. 5x1=5

37
vii.  Any other relevant point

Any five points to be explained
OR
(b) Explain any five features of ‘market gardening
and horticulture’ in the world.

Features of market gardening and horticulture

1. It specialises in high value crops as vegetables, fruits
and flowers.

1. It largely caters to the urban market.

1i. Farms are small but located in areas of good
transport facility.

1v. It is both labour and capital intensive.

V. Emphasis is on use of irrigation, HYV seeds,
fertilizers, insecticides and pesticides.
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vi. Green houses and artificial heating in colder
regions.
TB-1
.. . Pg. 40 5x1=5
vii. Any other relevant point &
Any five points to be explained
Most of the metallic minerals in India occur in the
26 peninsular plateau region in the old crystalline
rocks.
Following are the supporting statements
1. Our Peninsular plateau is rich in mineral resources.
1.  Metallic minerals occur in igneous rocks and
plateau has largely igneous rocks.
1.  Chhota Nagpur region in Jharkhand, Odisha and
West Bengal are rich in iron ore and
manganese,Bauxite and Mica.
ui.  Karnataka, Goa and Tamil Nadu are rich in iron
ore and manganese. Goa has large iron ore deposits.
iv.  Gujarat, Rajasthan belt consists of copper, zinc,
sandstone, Gypsum etc.
V. Any other relevant point TB-723Pg. 5x1=5
Any five points to be examined
Explain the Occupational structure of India’s
27 population
Occupational structure of India’s population
1. The working population (15 — 59 years) both men
and women take part in various occupations.
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1. Many are engaged in primary activities like
agriculture, fishing, mining, etc.

1ni.  Large number of people are engaged in secondary,
1.e. industries.

1v. Others are in construction, trade and transport
activities.

iv. Now there is a sectoral shift from primary to
secondary and tertiary activities.

V. Male workers out number female workers in all the
three sectors.

vi.  Any other relevant point
TB-2 Pg. | 5x1=5

Any five points to be explained 1

(a) Describe the development of railways in Europe

28 and Russia.

Development of Railways :

Europe

1. Europe has one of the most dense network of
railways.

1.  Most of the railways are double or multi-tracked.

1i.  Industrial regions of Europe have the highest
density.

iv. Underground railways are also important in some
countries.

V. Any other relevant point

Any three points to be described 3x1=3
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Russia

1. In Russia 90% of the transport system consists of TB-1 34+9=5
railways.
Pg. 68 -
1. Very dense network of railways are in the west of 69
Urals .

1i. Underground railways in Russia are also important.
vii.  Any other relevant point
Any two points to be described 2x1=2

OR
(b) Describe the benefits of water transport over
railways.

Benefits of water transport over railways:

1. It does not require route construction whereas
railways requires.

11. The ocean waters are inter-connected.

1i. It is cheaper over railways and the friction of water
1s far less. TB-1
. . 5x1=5
iv.  The energy cost of water transport is also lower than | pg. 71
railways.

v.  Water transport is suitable for heavy tonnage.
vi. Any other relevant point

Any five points to be described

SECTION -E

Map based questions
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For Visually Impaired Candidates Only.
(Attempt any five)

(29.1) Darwin/Wellington 5x1=5
(29.2) St. Lawrence waterway.
(29.3) Valparaiso

(29.4) Vancouver

(29.5) Tropical Africa.

(29.6) Algeria

(29.7) Vladivostok
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For Visually Impaired Candidates Only.

(Attempt Any five)

(30.1) Goa 5x1=5

(30.2) Kolkata

(30.3) Assam

(30.4) Odisha

(30.5) Karnataka

(30.6)  Western coast / Malabar coast

(30.7)  Ahmedabad airport / Sardar Vallabhbhai Patel
International airport
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